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QUESTION 1

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution.
Which risk is documented by an architect? (Choose the best answer.)

A. The security team has a firewall communication matrix documented.

B. The team is not trained for NSX-T but have a very strong experience with vSphere.

C. Open communication between different application tiers is not allowed.

D. Aggregate N-S throughput at any given time should be at least 10G.

Correct Answer: B

QUESTION 2

Which two protocols are typically used for multicast in a NSX-T Data Center environment? (Choose two.)
A. PIM Full Form

B. PIM Dense Mode

C. IGMPv2

D. PIM Sparse mode

E. IGMPv3

Correct Answer: CD

Reference: https://docs.vmware.com/en/VMware-NSX-T-Data-Center/3.0/administration/GUID-6AAC33604F79-4FBF-
BCC1-0D8C220B0621.html

QUESTION 3

An architect is helping an organization with the Logical Design of an NSX-T Data Center solution.
This information was gathered during the Assessment Phase:

There isn\\'t much budget available for a new off shore site.

The new site is decentralized and no communication with the main data center is required.

The design will need to cater for availability, upgrades, and failure scenarios.

N+1 must be maintained at all times.

Which three selections should the architect recommend in their design? (Choose three.)
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A. Separate the hosts physical NICs for VSS and N-VDS.

B. Make all pNICs part of N-VDS and VMKs will be migrated.
C. Collapse the Management/Edge/Compute cluster.

D. Install a minimum 4 ESXi hosts in the site.

E. A Shared Edge/Management cluster and one for Compute.
F. Install a minimum of 3 ESXi hosts in the site.

Correct Answer: ABC

QUESTION 4

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution.
This information was gathered by the architect during the Discover Task of the Enagagement Lifecycle:
There are applications which use IPv6 addressing.

Network administrators are not familiar with NSX-T Data Center solutions.

Hosts can only be configured with two physical NICs.

There is an existing management cluster to deploy the NSX-T components.

Dynamic routing should be configured between the physical and virtual network.

There is a storage array available to deploy NSX-T components.

Which constraint was documented by the architect? (Choose the best answer.)

A. Dynamic routing should be configured between the physical and virtual network.

B. There are applications which use IPv6 addressing.

C. Hosts can only be configured with two physical NICs.

D. There are enough CPU and memory resources in the existing management cluster.

Correct Answer: A

QUESTION 5

A customer deploying NSX-T Data Center requires role based access controls be enforced in NSX Manager with these
requirements:
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identity platform must be highly available authentication must be performed by customer\\'s existing SAML identity
provider MFA must be performed by administrator to gain access to NSX Manager

Which identity deployments would meet the customer\\'s requirements? (Choose the best answer.)
A. NSX Manager OAuth 2.0 registered to a 3-node Active Directory Federation Services cluster.

B. NSX Manager OAuth 2.0 registered to a 2-node VMware Identity Manager cluster.

C. NSX Manager OAuth 2.0 registered to a 2-node Active Directory Federation Services cluster

D. NSX Manager OAuth 2.0 registered to a 3-node VMware Identity Manager cluster.

Correct Answer: D
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